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And how do we know no2; — 1MBY [7RM 77190 S0P A (91 1O
We derive it through a P ansp w"1a from the field of 117pY

OVERVIEW

The X713 explains the reason the 71wn uses the term 7°1p, because 703 (of
owR w17R) 1s associated with 7°3p. The explanation begins by stating that we
know that an WX is nwTPH with A0 through the amp amp w" from 77w
N1y, and AP is called a PIp (for which the X offers two proofs)
therefore the mwn uses the term 731p. Our Moon explains why such a
(seemingly) complicated explanation is necessary and we cannot be content
with a simpler version.

nvoIn asks:
— N1 D3Y PN N1 MINN ON)

And if you will say; and why is all this necessary, in order to explain the
association of 7o to 11p? Why mention the w"72 at all?!
— 91 NP NTYN 993 NN lasmae 1237 29PN G0 NIN 991D 7998 NN NY

It was not necessary for the X713 to mention anything else except that no>
is called a %12, and prove it as follows: for it is written 1P 77w 9> Snn1

1122 (I have given the money for the field; take it from me) and conclude

the proof by stating -
— DNIANR NP YUN NTYN 22509

And it is written concerning this field (for which 07772 gave money) ‘the
field 27792R /3P WX’ indicating that an acquisition with 703 is referred to as 1°3p.

— %395 0o 1Y >3 N
Or an alternate proof, for it is written 112 1823 NTW; again proving that an
acquisition with 702 is called 7°37. Why is there a need to mention the w"2 here at all!

mooIn answers that it is necessary to mention the w"7a:
— 1937 29PN NI NUNT GUI 123 29PN NTYN 90T 2137 90 XD 95137 9D U

And one can say; that this (simpler proof) which n501n suggests that the
X3 should offer, is not sufficient to make the association of WX W17p

"%, (7w »n) w2

25 95 ow.

? This is the alternate P09 the X3 brings. In Moo suggested answer this P05 would stand alone as a
proof; totally unassociated with 1119y 77w. See *»1 °X 7"7 MBOIN on 2,2 (why the 1"X is necessary). The 1"&
alone is not sufficient for we prefer a 105 from the 770 (not from the o°X°23).
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with 71p, for granted that through the 2’108 which maoin suggested, we
know that the no> used in acquiring a field is referred to as 112, however it
does not prove that the 793 used in acquiring a woman is called *}1p -

$1999 Y9PON 119951 DVUN 1ININT 0 IMNT 1IN N¥2NY 98 2
Therefore it was necessary for the X723 to prove that the o> from where

we derive 7w *v17p is called a 3°3p. That is why it was necessary to first mention
the w"tA which establishes that 1179¥ 77¥ is connected to 7w *w17°P, and when we find
that the no> of N1BY 77w is referred to as 1°1p then the 70> *v17°P of an AWXR which is
derived from 7179¥ 77w can also be associated with the term 7°3p.

SUMMARY
It was necessary to first cite the " of AP 7n°p, for otherwise we would
not know that 702 of WX w17’ is considered a 1°1p.

THINKING IT OVER

MBoIN maintains that it is insufficient to (merely) prove that "1 p°X 702,
rather we need to establish that 1P "p°X 70> *v17p. How then did nvoin
state previously6 the 1Ip "P°X TOW since it 1S written 71PN 190 NR PRI,
however that does not prove the 7°1p PR W wp?!

3 The PwTp (Ao2) of an nwX which is a marital concept (the husband does not own his wife) cannot be
compared to other 0°1°1p where the 7P acquires ownership in the item which he is 71p.

 own 11"7; see there footnote # 9.

! See 712117772 10 MIX 7"
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